BASIC ALGEBRA Exam 5 (One Step Ch 5) FORMS A and B Dr. Rapalje

BASIC ALGEBRA Exam 5A* Name
Show all work on this test or on separate paper! Calculators ARE allowed on this test!

In 1 - 25, simplify each radical completely. Leave answers in radical form,

1 49 2. /Bl 3. /125

4, 1I'.,-"2_'7‘.1»'“"1»_” 5. /20 6. /50

7. (72 g i 9, Y50

1. x'y? 1, 4 18x pt 12, /60x Ty
13. 5 + 5 4. 2 + /98 15 5,27 - /12
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16. 7+ 5 17. 10 - 15 18, /46 - /69

19. 8,10 - 6,2 10, 56 - 6,15

3. 65 (243 + 57 2. 3,6 (2,3 - 3D

13 (3 DB - 1 (4 - B

25, (443 + 2,/6) 36, Calculate the value of (43 + 2,06 .

{Round to nearest hundredth!)
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BASIC ALGEBRA Exam 5B* Name

SHOW ALL WORK ON THIS TEST OR ON SEFARATE PAFER. Circle answers.
TURN IN ALL WORKSHEETS, CALCULATORS ARE REQUIRED ON THIS TEST.

In 1 = 25, simplify each radical completely. Leave answers in radical form.,

1. /8 1, /28 3, /63

Vis
4, -.-'PEEH:I' L Hln'lg_ﬁ ik, l|||.| 5

—_— 3

- 'T.,']T 8. 34 2 ':"m
., X 1L X 1A
13, yxtpt 14, 12x7p" 15, 72Zx%y "
16. & « 6 1. B+ 13 18, 20 + 128



19. /27 + 675 2. 3,28 - 4175

2. &3 - 52 22, 4,3 - 5/15
13, 5243 ¢ 4410) 4. 32243 - 3,2)
In 25 - 6. Tind the simplified radscal form, then calculate the decimal value to nearest hundredth.

i 4
s, (4 + T3 - ) 6. (36 - 2,3)
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